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Q. x :- Fill in the blanks.
My father went to buy some milk.
A. There B. their C. They're D. here
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to option A in the Answer Sheet
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a) 3 + ot b) 3 + st c) 355 +
SYRTET YeETE AT 3T,

AT Td: ST a1 FGHRSTET g9 JedTe.

a) Geet war b) farersor C) AT

TYRTGT YT ST 3TI5ET.

T AT TAT 3T SISV I el
a) TereTersh H b) forere == ) HTHTere

d) 3T + TA

d) TcHaTE WA

d) smH= 9

[Ia : (e} [aX} (e ] (] a f\?
FTATSTeAT shlel AHTYAT HigT=edl IT dTe:-TleT <hlel T AT STId <hlUTdl

a) farrsor b) feranferereoT C) IS 3T

"G MR UH e T AR TehaTaer=i 3712 Shiordr?

a) Ferdmd b) forere c) @
'STTOT AT TSR TR SATetel [aI0T Hiesan
a) St b) smait ¢) Fauig

'Hel HEMHIER T} SANTeAl’ AT STerTeitet ShATIRTaT Wehi ShioTe?

C o C o o
a) gk [hATTg b) U IhATUS C) Her=s [shaTIg

IR A7 I ToTTT Eiedier Yeht ShivTa?

a) gfoerT b) ST C) THRITT

d) framg

d) srsmer

d) srrerorETS

d) Hge fsramae

d) 5 s
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10.

11.

12.

13.

14.

15.

16.

17.

(2 A (2
QT Yeh! Teheldl ATH ShivTd?

a) e b) arrm C) F4T d) 5=

GTeAloT Uehl 3TehHeh Shadl TN TR STl

[aNE.Y

a (2} Klay (2 + 0
a) 7l Fed ST b) Hel HAIHTIER @I ¢) TSI T FIFTAA! d) HAH! IS Telg el

Name the soft, gentle song sung to make a child sleep

a) pop song b) lullaby c) classical song  d) poem

Which jewel do we get from oysters?

a) ruby b) pearl c) emerald d) sapphire

Rearrange the following letters and name a useful thing

a) pore b) pero C) rope d) erpo

This year there has been a bumper crop of mangoes. What does 'bumper' mean here?

a) tall b) very little C) many d) unusually large

Select the opposite of the word 'bold'

a) fear b) timid c) brave d) strong

Select the similar meaning word for the word loyal

a) royal b) cheat c) faithful d) humble

Which of the following is not a profession?

a) grocer b) painter C) postman d) mother
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18.

19.

20.

21.

22.

23.

What is the official counting of a country's population called?

a) counting b) election c) budget d) census
"Come " he ordered his servant.
a) hear b) hare c) here d) hire

I am a black, yellow insect. I collect honey. If you disturb me, I shall sting you. Who
am [?

a) butterfly b) mosquito c) bee d) fly

IR 3TehT AT IS WA T 3Tht TR TTa = T JsTl Shofl X AUTRT HEAT SHIoTet?

a) 9998 b) 8989 c) 9899 d) 8999

Find the remainder when the smallest three number 1s substracted from the greatest
four digit number?

a) 9998 b) 8989 ¢) 9899 d) 8999

1 & 100 =7 Hear=at ST S Yoo WA 3 BT 37k Ueheh TAMT Al 3720 {1 3Tehi Tohell Yoo T
area?

a) l b) 8 c)6 d)5

How many two digit prime numbers are there between 1 to 100 such that they have
digit 3 in their unit place?

a) l b) 8 c) 6 d)5

e 37kl HigATd Hidl 99 F IR 37l oleMId olg [auT &ITdiel Flehdiol 9 3iehrt st
EIeTIh! SHIUTCH?

a) 44 b) 43 c) 42 d) 41

What is the sum of the digits of the number obtained as the difference between the

greatest five digit even number and the smallest four digit odd numbers?

a) 44 b) 43 c) 42 d) 41
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24.

25.

26.

217.

TRl GG 10 IS % JUTRT SSTaeht 16 I3 83 SISt shedt 319 df 544 ad ax ot g

QTeAeTdeh! ShivTT?

a) 24 b) 34 c) 44 d) 54

When 10 is substracted from a number and the remainder is taken 16 times and
added together. We get the number 544, find the number?

a) 24 b) 34 c) 44 d) 54

5 o o o o o o .
1—25-} HIRHA ALl Ea:f HIRHS A=A Q{“'IL{OIG?I 32“% (‘Q‘INOI';\I Teh YIHY HEA (—2—34) 32“% [SES gﬂi'

QNS EEAT ShivTal?

14 14
a) — b) — c) — d) —
) ) 3 ) ) Y

A rational number 22 is equal to the sum of two rational numbers if one of them is

(_2_34] , what is the other one?

12 14 14
a) — b) — C) — d) —
)25 )23 ) )25

2 (2 o0
TShT J&AhraT 5 qr g 10 u= A gearer 110 a aremer Afeet. o &1 Jedehrd ot ar

ae?
2) 200 b) 150 ¢) 180 d) 190

If % of a book and 10 additional pages are read, 110 pages of the book are let to be

read. How many pages does the book have?
a) 200 b) 150 c) 180 d) 190

a=Db=c = d T GrellcTyshl Fad HIST 3TYUTH FHUTAT?

a b c d

a) — b) — c) — d) —

) 5 ) 7 ) 3 ) 2
If a=b = c =d, then find the greatest of the following fraction.

b C
b) = A
)7 C)3

a

a) 2 d)%
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3 8 o (e 3 <
— = — T oA Yo ST — T85!
4 7 4
7 8 4 12
a) — b) — c) — d) —
) 8 ) 7 ) 3 ) 16

By which number should % of % be devided to get %?

7 8 4 12
a) — b) — c) — d) —
) 8 ) 7 ) 3 ) 16
1343.12578 &1 107 = STTot ST G FEE cvvvnrvvvnnnen .
a) T B o5 IRV FeeTe 3Talehe b) T =R Yoz I FeeT= SMdishe
C) U TR IoTelehe d) =1 Ueht weREr AT
If 1343.12578 is devided by 10, decimal point
a) 1s shifted three digits to the right fromt he original position.
b) is shifted three digits to the left from the original position.
c¢) remains unultered.
d) 1s shifted four digits to the right fromt he original position.
e 001X003_ o o,
0.15
a) 0.02 b) 0.02 c)2 d) 0.002
If wzx then x =?
0.15
a) 0.02 b) 0.02 c)2 d) 0.002
0.00005 x 0.000006 = ?
a)3x 107 b)3x10™" ¢)3x10™" d)3x 10"
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32.

33.

34.

35.

3TN ST oTeT AT YNe el i, 7ot 18 = 9Tet e ameht 1 3%, 24 3 90Tel S
ARl 7 I T 36 F ANTer S1ar et 19 3.
a) 91 b) 73 ¢) 79 d) 55

Find out the smallest numer such that when it is devided by 18, the remainder is 1,
when it 1s devided by 24, the remainder is 7 and when it is devided by 36 the
remainder is 19?

a) 91 b) 73 c) 79 d) 55

T IR 9 ST odita 220 378 aX o1 9 skt ohdt?
a) 27 b) 27 c) 42 d) 58
The LCM of two consective even number is 220. Find the sum of the numbers?

2) 27 b) 27 c) 42 d) 58

1296 == aTesTeT SRHIA 625 ST SRS SRS asT shet TR @Ieiletush! Hiveal Her

e ToTeeTeh 3!
a)9 b) 1 c)4 d) 25
What will be the result if square root of square root of 625 is substracted from square

root of square root of 12967

2) 9 b) 1 c) 4 d) 25

TS & HoTT el STSTAT 9T U 2 1 37, 4 auiget i o ol 9 @ 4 &d o)
q { P |

e ST o Tepalt an?

a) 40 b) 50 c) 30 d) 28

The ratio of the present age of age of a mother and her son is 2:1. 6 years ago the
ratio of their ages was 9 : 4. Find the mother's present age?

a) 40 b) 50 ¢) 30 d) 28
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36.

37.

38.

39.

40.

(2 A a (2 a
Wletlet Henl HelRIbcld gl Heterl ISRV ShIUTAl?

a) TESdTA J e b) Tgepe & A C) UNER F TTHR d) ot & =]
Which of the following dynasties were there in Maharashtra?

a) Gahadwal & Chauhan b) Rashtrakut & Yadava

c) Parithar & Parmar d) Pala & Chalukya

RATAT U5, YA Hhic 3T ?
2) Gl b) TisTeR C) IV d) e

Where is the famous sun temple in India?

a) Khajuraho b) Tanjawar c) Konakr d) Bhuwaneshwar
TSToITeAT YoTIaT SUTRY -------- 21 ufeett o ThHd S B

a) =isfeie b) g ¢) T d) qasTaTES
Who is the first and only women to sit on the throne of Delhi?

a) Chandbibi b) Raziya c) Noorjahan d) Mumtaz
[EEREUCIEE HEE LKl

a) forterTaeett b) =it c) fersz d) &t

was the capital city of Vijaynagar.

a) Tiruchirapalli b) Kanchi c) Bidar d) Humpi

TSI IS T HITT G Shetl?

a) EEH b) I sHArSR  ¢) TEES d) G FeR
Who has organized the Veershaiva sect in Karnataka?

a) Purandardas b) Mahatma Basweshwar

¢) Ramanuj d) Sant Kabir
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42.

43.

44,

45.

"Tor it T Tyt uferst AT WioiloTushl ShIuTr=aT L= GHTEeT Ael?
a) G e b) qerdiETa ¢) AT Ty d) dq R

Whose compositions are not included in the holy book 'Grantha Sahib'?

a) Sant Namdev b) Sant Tulsidas

c¢) Chaitanya Mahaprabhu d) Sant Kabir
H-3-FCTEl BT Al =---mmmmmmmee- YT Bl

a) ST b) TS =ERE=T ©) WA d) fasaremran
Deen-E-Ilahi was the experiment of new

a) State Administration b) Social System

c) Civilization d) Universal Religion

Rt g8Tel 6 TorieR T aien 3.9, 1708 7egf ------------- e T AT

a) ST Aied b) IgaER ¢) AiRe d) feeett
10" Guru Govindasing of Shikhs was died at in 1708.

a) Anandpur Sahib b) Amritsar c) Nanded d) Delhi

TEeT ST M FHIUE ICARATIIS! ARG STHU=AT TSRV FHIC RO {307 ShioTd?
a) feoett b) 30T C) TTeuT d) smm
Which of the following place was not mentioned in for the famous cities

manufacturing silk cloths in Mughal period?

a) Delhi b) Paithan c) Patna d) Agra
K ERERRGEREGE
a) feoett b) s C) R skl d) 3R

Akbar had set up a new city named

a) Delhi b) Agra c) Fatepur Sikri d) Ajmer
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46.

47.

48.

49.

50.

TEeT HIBTT HITHR T =--mm-mmm=- 21 forIot ST TR SHRUAT ST,

a) Teter b) ggTe C) STEET d) eimR
Which large garden was made at Kashmir in Mughal period?

a) Pichola b) Vrundavan c) Shahibag d) Shalimar

et 3TIfoT i feAfeeter Te i Fenrdt Strel Haer.

a) T TeReIST HERIST - A b) T AHRE - T IR

C) T TSHATY - STaTe JHTE0T d) e THR - TR T
Find out the wrong pair.

a) Saint Tukdoji Maharaj - Amrutanubhava

b) Saint Namdev - Guru Granthasahib

c) Saint Eknath - Bhavartha Ramayana

d) Saint Tukarama - Tukaram Gatha

TRTATST HERISTIET ST =------==----- TSI ST,

a) 19 %gamt 1620 b) 19 S@mt 1630 ¢) 19 gamt 1640 d) 19 et 1650

When was Shivaji Maharaj born?

a) 19 February 1620 b) 19 February 1630

c) 19 February 1640 d) 19 February 1650

T2l Stex =TT STIeeR RTarstt TeRISHT --------=------ TohoaTeR. ST BT

a) foermerTe b) T=Tes! ¢) TS d) garmTe

Where did Shivaji Maharaj took shelter when Siddhi Johar attacked?

a) Vishalgadh b) Panhala c) Raigad d) Pratapgad

S 1665 e ST g fHrarsit HeRIST AT Setell qg ----------- T8 WU 3TMes AT STl
a) T b) Tz ¢) g d) e
Which treaty took place between Jaising and Shivajimaharaj in June 1665.

a) Treaty of Purandar b) Treaty of Panhala

c) Treaty of Pratapgadh d) Treaty of Kondhana
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51.

52.

53.

54.

55.

TSR TG FTaR=i=T shioTdt =TT greedl?
a) TR 9 AT b) TuT T & C) TAT I TTaRTE d) g 3 FTeRTE

Which currency was started by Shivrai on the occasion of corronation?

a) Tanka & Rupiya b) Rupaiya & Hon
c¢) Rupiya & Shivrai d) Hon & Shivrai

ST HEesTdl WA FeU[A ShiOTel oS SHeAT &feit?
a) BRI Hifed b) A BFew Wes ¢) THeg e gk d) HiseR dleawe

Who was appointed as a senapati in Astapradhanmandal?

a) Hambirrao Mohite b) Moropant Triambakrao Pingle
c) Ramchandra Trimbak Dabir d) Moreshwar Panditrao
STESTAGT WAl Aodt HERTSTTET YT -----==-===- 21 forsarg daeh gidT.

a) F= S b) Tl gerfed c) et siex d) Tt
Who was the trusted servant in Maharaja's army at the time of Afzal Khan's meting?
a) Saiyyad Banda b) Siddhi Ibrahim

c¢) Siddhi Jauhar d) Fajalkhan

HATS FERTSAAT -------====-=- 2T ISR Te feafee.

a) fagia Rt b) TSI C) SRIET d) T
Which political book was written by Sambhaji Mahara;?

a) Siddhanta Shiromani b) Rajtarangani

c) Budh Bhushan d) Rajniti

AR W STeAe] WU ----------- T FHerE AT ST

a) &7 qSeudre b) dfed STameaTe Ae%

C) S1. AEHRH e d) HICTHT 3Teget hellH 3TSTS

was appointed as a president of drafting committee.

a) Dr. Rajendraprasad b) Pt. Jawaharlal Nehru
c) Dr. Babasaheb Ambedkar d) Maulana Abdul Kalam Azad
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56.

57.

58.

59.

60.

61.

STIehelTe! & €]0T ShiuTedT Tafel 377

a) TTeR b) weRt c) Uit d) frm
Jayakwadi dam is situated on river.
a) Godavari b) Pravara c) Purna d) Bhima

YT YT ShivTedT (Soard 3Te?

a) TR b) TR c) de d) Aics
Randha waterfall is in district.
a) Satara b) Ahmadnagar c) Beed d) Nanded

Which of the following is an adjective?

a) harming b) harm c) harmful d) harmfully

Find the kind of adjectives underlined in a sentence.

This is my elder brother.

a) Distributive b) Interrogative c) Numeral d) Demonstrative
TehTeT TRl eI Tehelt o 7. e aheal?

a) 3 oI b) 1= 80wm@  ¢) 108 et d) 30 it

How many kilometers are covered by a ray of light within on minute?

a) 3 lakh b) 1 crore 80 lakh ¢) 108 crore d) 30 crore

AZTCT ST Sl T fehelt SetTarelt eiTet?
a) 27 ke b) 20 Fhe o) 24fe d) 15 e
How much time does moon take to complete one rotation around itself?

a) 27% seconds b) 29% seconds c) 24 days d) 15 days
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62.

63.

64.

65.

TR THIRM TS g7

a) TEE e foa)oT STEeuTRT TehreT
b) TR HrHT 3T SRS AT HeT Sheiell SLMcHT ThIIN

C) SeRIICH ARl AR °|'>{U¢IIHI<§| AT Hod A<hIRII

d) T AT 3R TR Shetell Se3cHeh Tehren

What is meant by a base map?

a) A map showing distribution of particular theme.

b) A map drawn by taking into account the regional boundaries.

¢) An accurate map representing internal & external boundaries of a region,
geographical scale, the arrow showing the north directions etc.

d) A map drawn by taking into account isolines.

Ted AT UHUT S3AHBTU! Tehell 2ok T S ST 37 ?
a)21 b) 71 c) 29 d) 79
What percent of earth's surface is occupied by water?

a) 21 b) 71 ¢) 29 d) 79

[a [a (AW [ [ f\?
YeleTlenl Henldl/1cld A HUTRT STIST <hlUTdl ¢
a) Ward - Ol b) HREH - R ©) eRUK - WEl d) 31T - TR

Which of the following pair is not correct?

a) Khambat - Strait b) Caspian - Sea
c) Dharamtar - Creek d) Dal - Kale

grRdesT=r, e 3arrar 180 & 200 e Wiet=r 9T SHiomr?

a) T e b) WY TR ¢) e T d) Ger 3R

Which of the following has the depth of about 180 to 200 meters from the sea-level?
a) Abyssal Plain b) Oceanic Plateau

c) Continental Shelf d) Continental Slope
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66.

67.

68.

69.

70.

T THETE TR TR Tl 317
a) 220% b) 41% c) 332% d) 155%
What is the salinity of Dead Sea?

a) 220% b) 41% ¢) 332% d) 155%
UM RAl-3T8 1T heel Ad?

a) Yok A=Al STHIEEAT o TOTHAT b) U Hle=ATeaT T

C) Tk AfE—AT=AT STSZHIeAT d) T[oeh o FET STHIE

On which days do the spring tides occur?

a) On the new moon and the full moon day.

b) On fourth day of every month

c¢) On eight day of every month.

d) On eighth day after the new moon & full moon day.

IIclt, WIUTRTH, ATHART € SHI0TedT Yehe e 3R’

a) =qd DREGIRE c) Ut d) g
Occupation like agriculture, mining, fisheries are called occupations.
a) tertiary b) secondary C) primary d) quarternary

. . (&)
QAT S AU, AHTE] Sl Hldsedl %°I'»|UI('¢II A IR 3T|%'

a) MAtHs Fa@™@  b) Ioid Haa ¢) T = d) Tgcirr e

Use of machinery on a large scale & high return are the characteristics of

occupation.

a) Primary b) Tertiary c) Quaternary d) Secondary

YRATCHET ShIUTCT ST Tl T[UTRR Walid shHt 37 ?
a) HeRTT b) 3fean c) ERATOT d) e
Which state in India has the lowest sex ratio?

a) Maharashtra b) Orrisa c) Hariyana d) Keral
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71.

72.

73.

74.

75.

SRR WETAeT SHIUTeT SV HISAT THTUTER s drasd?
a) ST b) ferferan c) | d) =
From which of the following countries is copper obtained on a large scale?

a) Kenya b) Libya c) Ghana d) Congo

3T 3TN Gediel Fald 39 ¥ SHivg?
a) HTSe Hichot b) AT AR ¢) HIS:E Jhl d) arse e

Which is the highest peak in North America?

a) Mount McKinley b) Mount Kilimanjaro
c) Mount Rocky d) Mount Andes

EICTUSh! ShIUTAT TTallles Ul 3107 STHIERT WETiel ATl ?
a) TS b) Tardt ¢) 4urg d) S
Which grass lands from the following is not in South America?

a) Lanos b) Prairies c) Pampas d) Campos

.............. ¥ g TeTTet ferre fAfee sy 3T

1s the film production centre in United Kingdom.

a) Bollywood b) Hollywood c) Rose wood d) California

TTT STITSRERT ST SHITTCAT ST TRE! ST aet 37
a) e b) Tffe=m ¢) SegaT d) wsifaes
Which country is totally surrounded by South Africa?

a) Lesotho b) Namibia c) Botswana d) Mozambique

(Page - 15)



76.

77.

78.

79.

80.

81.

$'|i|r\\’1®ll{ dclel) === HMX Flls JHled.

a) e b) fuemt ¢) ARG d) werr
On Zanjibar island trees are in greater number?
a) Banyan b) Pine c¢) Coconut d) Mohogani

ZeTuT SRTHE ATEet e o) ShivTd &7 Sjeet 37e?

a) =% b) farg ¢) aEt-art-ar )
Which dam is built on Nile river in South Egypt?
a) Edku b) Sinai c¢) vadi-al-alaki d) Aswan

[N [a) o s r)
ATSTAT I ST ST TehAdT shHIh ATl

a) faa b) e OEIGEL d) =it
Brazil ranks in the world in terms of it's area?
a) Third b) Fifth c) Seventh d) Fourth

STITReH=AT VT RIeT il Aol T ?
SEICE b) T ¢) forarat d) ware
Which river of Africa is called a river of crocodiles?

a) Zambezi b) Senegal c) Limpopo d) Kasai

3T TR FROATAIS! TAIA T HETTT ST T ?

a) SifegsTTar b) Tt C) SR d) v
Which of the following is required by the plants for preparing their food?
a) Oxygen b) Soil c¢) Darkness d) Sunlight

ATl UTeh ShR0AT! ShTH hivT Sl ST
a) et b) geusita ¢) Igh d) 9ma
Which of the following organisms make the soil fertile?

a) Plants b) Micro organisms c) Frog d) Snake
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82.

83.

84.

83.

86.

87.

SIHHes ShIuTedT AT TR Bl
a) & b) i c) T d) Tiferent
Which disease is spread by mosquitoes?

a) Plague b) Jaundice c) Dengue d) Polio

TS & SHEMIAT ST ?

a) ST% o el b) i & FrEA o) wmemadEe  d) FE FaE
From which metal is the steel made?

a) Zinc and Copper b) Iron and Carbon

¢) Chromium & Iron d) Iron & Copper

Toreid 2N 3T 379, R Sl ShivTd 3T 3TTgsd
a) Tiieh 3T b) A A c) 3Afeeh 3 d) sEiise T
Tamarind has tartaric acid, which acid is there in curd?

a) Lactic Acid b) Citric Acid c) Acetic Acid d) Benzoic Acid

IeESTHT TSI o g U 3.
a) FORH b) s C) Tl d) w5

Find odd man out with reference to excretion.

a) Lungs b) Kidney c) Skin d) Brain

A S SHIOM=AT IR THET I TUTara’?
a) et b) ww=n c) s d) i
What is a group of cells, performing the same function called?

a) Tissue b) System c¢) Organ d) Eco-system

Qe T AT S U8 &1 3794 ?

a) fo b) = ¢) oot d) %
Birds have instead of nose for respiration?
a) Feathers b) Skin c) Gills d) Nacres
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88.

89.

90.

91.

92.

SHTOTeAT FIASUTT=AT UTUITCAT §led THAT
a) 9rg b) Mgz c) TH d) =or
Which reptile animals do not have eyes?

a) Snake b) Earthworm c¢) Centipede d) Ghonas

31T TS SHIOTCAT FeaTelt TToRT HYvaTd Ieft?

a) 5 b) 20 s c) 6 5ot d) 14 qregsy

On which day do we celebrate Akshaya Urja Din?

a) 5 June b) 20 August c) 6 July d) 14 November

o€ YRITIAIoT STTIIITAIST U0 Tider, aliel UToT TSTeid STEdTd, SRl

a) 9ot & ST 378 b) Tt 2 SR} HreAH e

C) Ul & Sifsisreh gTa/eh 3118 d) TToTt ST Ta Seed

Aquatic animals can survive in reservoirs even when the water is frozen because...
a) As water is a natural substance b) Water is an ideal medium

c) Water is a universal solvent d) Water is shown anomalous expansion

SIS, TSI AT TS hiel I I U FHITET HRT HIATT?
a) | b) faaren ¢) 7T feRzoTre d) &-ferorien
What treatment is given to prevent the sprouting of onion and potatoes?

a) sugar b) salt c) Gamma rays d) X-rays

SHTEITEAT UTYS=IT ShIOTT SeaT ugre 31e?

a) =ik b) SHfeerm 3fdeTeie ¢ Hicerad d) T
What excretory product is prevent in the fine skin of onion?

a) Latex b) Calcium Oxalate c¢) Calcium d) Gum
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93.

94.

95.

96.

97.

STGel VT T2 WY STITUT GEATEAT HTcieh 3T ?

a) FEF HAHAES  b) FE-e™ ES  ¢) 2R d) Ferrem
Which subject from tobacco causes harm to the heart and the brain?
a) Carbon Monoxide b) Carbon Dioxide

c) Tar d) Nicotine

(e L - (AW aN— (2
Gldletr YdHenl 1d¥a sl SHlcod|

a) 'S SAraacd - I S b) 't' S - It

C) BRI - TSI T d) e - TS

Find the odd pair.

a) Vitamin D - decaying of teeth b) Vitamin A - Night blindness
c) Phosphorous - weight loss d) lodine - Goitre

AR HISTUYIH Uench end q%‘(lol(‘ll(‘l?

a) ¥ b) &’ ¢) F d) &
How is the unit of temperature denoted?
a) C b) C° c) C, d) °C

T eheTel! S Wt TedTHT ol Teies fa=am et

a) ek T el b) feerer sra ¢) Wad aeeid o d) Fod At Bid ST

What kind of motion is there when a stone falls down from height?
a) Unchanging motion b) Constant motion

c) Motion with continuous increase d) Motion with continuous decrease

T L SRATAT fehet 3TEd?

a) 20 gz HHt b) 20,000 gzreT

c) 20 T 2000 g2z d) 20 & 20,000 &&=t
What is the frequency of audible sound for human being?

a) less than 20 Htz b) less than 20000 Htz
c) 20 to 2000 Htz d) 20 to 20000 Htz
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98.

99.

100.

101.

102.

qTUaTe SIS e IEUATHIS! STATSIATER ShivTaT UTded o TErd
a) WA Tohlgicral b)) SFoad==n C) AT VEIERIRHEIEI

What is spread on the water in reservoirs to reduce it's evoaporation?

a) Cetyl Alcohol b) Chlorine c¢) Thermocole d) Carbon compounds

ATUATEAT el SUTAT fett ST STRTERUT Halg ShivTedT 9 ST ?
a) =%, Erel b) e sR=AT IR ¢) 3 faea d) Jewte area

When we heat water in a container from lower side, convection currents are observed

from

a) top to bottom b) bottom to top c) left to right d) right to left

ZXYyWWZXYWYXWYWXYyWZYXyWy alict 378 Hifetohd X 2T 3Tt z F X HeR o y 37%, 3T

Toheil SloaT et 3T ?

a) U dos b) T e C) TR desT d) g Fer
ZXyWWzZXywyxwywxywzyxywy in the above letter series how many times does it
occur that the letter z is followed by x and x is followed by y?

a) five times b) three times c) four times d) two times

ABCDE FGHIJ KLMNO PQRST UVWXY

o

R STeRTerdrer | arga S v 37eR 3o1e A fefecard Tar Seiedl e STeRHTers]
HEFHNT v 3TER ATA?

If the letters from I to S in the alphabets are written in the reverse order, which will

be the middle letter in the new sequence?

a) M b) O c) N d) L

ETeflel TR HEehiUehl diF HEehid Teh T2 TR &idl, 7T 7 SHUIR] T2k i@l
a) STt b) urr C) ANGES d) ais

In the following questions there are four terms one of the terms does not fit in with
the rest find that term.
a) Zinc b) Mercury c) Iron d) Copper
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103. TTerd = S IRV e i
Odd man out.

a) 8486 b) 3186 c) 6427 d) 9189

104. & UgTen ieATdel AREYUTYGS Ueh T2 ST & Ush g caTd o el o Ug 3TIcs.
a) YA b) MM c) RR d) LN
Three terms form a group and one does not belong to the group. Find that term.

a) YA b) MM c) RR d) LN

105. @M : 3fes i1 7 SIS
a) TeATges b) @ C) Ty d) gret
Ostrich : Oviparous :: ? : Viviparous

a) Bat b) Snake c) Tortoise d) Lizard

106. 3:12::6:7
a) 25 b) 42 c) 18 d) 29

ABCDE FGHIJ KLMNO PQRST UVWXYZ

107. =RIeT STeRuTerT AR 6 Jeiel THaer 3R 9T,
Find the missing term by using the above letter series.
YA :BX::WC:?
a) UE b) KO ¢) DV d) VD

108. 21,24, 30, 33, 39, ?
a) 41 b) 42 c) 43 d) 44

109. A a, THA 4, T Aa,?
a) A Ha b) ATA c) A A d) aAh
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110.

111.

112.

113.

114.

115.

b,c,e, g ?

a) i b) k c) ] d) m

TehT Hichideh WS Is5 [AGUITHIE! STeRUaS 3k SAMaddrd. 3fshial i IIeSTdliol STERTIHTO!

3T 3719 M@l

32T 3R-312, 7e9-254, TeT-346 I ' B I fefeat Sget?
a) 536 b) 345 ¢) 456 d) 326

o 0 r(\

TehT Fichideh foTdid 9T ToIlgUaTETar 3TeRi=AT Uersit ferg = Sy Shidld. JT Feraie shH STei<]

AT 378 319 el

L

I|LMEd Ak, T8 10, A T X, G AR

a) Al b) Ao+ c) +A'[ d) +*o

TRt Gichicer g MAN 1 91ss NBO 31 fefeen sirar @k GET &1 9ss 4T {oferet?

a) HUE b) EUH c) HFU d) UEH

In a code language MAN is written as NBO then how will you write the word GET
in the same code language?

a) HUE b) EUH ¢) HFU d) UEH

ab__bcac__bab__ cacab

a) cacb b) accb c) ccab d) abac

SR STMIEHT TeTUeTT UTe ST Hiel 3T Ucdl e Jetrea Ureue garet 7%, SR qetre aiF

U o 4 T 3T, T Sl ATsTe 9 foheit?

a) 24 a9 b) 25 &% c) 42 a9 d) 40 7

Shrikant is 5 years older than his wife who is 5 time as old as her daughter. Three
years ago her daughter's age was 4 years then what is Shrikant's present age?

a) 24 years b) 25 years c) 42 years d) 40 years
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116. T TeaTes 3 AT 6 ohe ¢ S J SER TS & ATel 6 Wehs H1T ISt Hehles! 8 STl

117.

118.

119.

376! TEdTes SRISR ATEeA SH=2T Saeil UeTe 4 aTsTal e fohdl Tieh USel?

a) 0 fafae b) 2 e ¢) 4 fafe d) 120 @sg

A watch goes faster by 6 seconds per hour another was goes slower by 6 seconds per
hour if you set these watches at 8 am today, what difference in time will they show
the next day at 4 am?

a) 0 minutes b) 2 minutes c) 4 minutes d) 120 minutes

T R Sishe a8el . R foma= Seiehe a9et 3T, [aqg=n 3eEse foe® a

STTHTST S ST, TR STHITAT STEHS Faid a2l HIvT TFeAT 3R ?
a) S b) R c) foar d) foar
Vasudha is sitting to the left of Shirish. Shirish is sitting to the left of Vinay. Vivek

and Akash are sitting to the right of Vinay. Find who is sitting to the extreme left?

a) Vasudha b) Shirish c) Vinay d) Vivek'
HieTeAT ST fohalt FIehIuT 3T ?
How many triangles are there in the figure?
//;'/:/ ] “\ ‘\\ \:\‘\_
Ve — | U AN
2 1V \\
£ I\ AN
a) 13 b) 15 c) 18 d) 21
1 2 2
3 5 3 L 6 3
2 4 5 1

SR T STFcaieR 2 AT {6 JESHTIEaR ShivrdT 31k 3geT, o |

See the above cube and state which number will be there on the opposite surface of
2.

a)5 b) 4 c) 6 d) 3
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121.

122.

123.

124.

/

A 12 /N
!/_"‘l_'?\\ /’;lnl\\ o o o oo ‘9
(T2 N/ 7Y\ Qe Idesld Y-8l ST ShoTdl T A5t
\ 2 /\56)
\/ 6/ Which number will come at the place of question mark?
a) 13 b) 19 c) 31 d) 20
A4 /N
/AN /= \
;2N /T
g‘l - 1_7{ ' \1 < o o) no_ . ¢ 9
Va1 -l rg ) ST SIfe3Td GRATET=AT ST ShIvTdl HEAT A5 -
\7L/ __\~"7/
N/ 8NN/ . . .
N7 > Which number will come at the place of question mark?
a) 13 b) 24 c) 48 d) 72
AT TehT I 3! Wit UarT 2iehtehg 13 3t 3T ot =4 2ieh1ehg 9 ot 311, &re et

T T I HEIHY 36, TR ATel AT et Aol shHieh fohaan 378’
a) 7 b)9 c) 10 d) 11
In a row of chairs Blue chair is at 13" place from one side and at 9" place from the

other. Red chair is at the centre of the same row, then at what place is the red chair?

a) 7 b)9 c) 10 d) 11

HeRl «Riehs ars e 31 eldl. cqlzdl Sviedl dlsietl ST ié?“ '6|<'Ir\|- qr dF FIeHET S

SAEAT. ST TR AT ShivTeA SS[ell 37

a) e b) 3sten C) HATAT d) TEr=n

Mahesh was standing by facing towards house. His left side was north direction. He
turned towards left three times in rectangle now towards which direction his house
1s?

a) left b) right c) back d) front

57 2002 st IhaR 318t X 2005 HTedt i STt ot Rt STt S7ae?

a) 9HaR b) HiTzzaR C) FHER d) e

5" May 2002 was Friday so what day was it on Gandhi Jayanti of 20057
a) Monday b) Tuesday c) Wednesday d) Thursday
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125, STS[=n 119 SR

A .
A = iRl FHIOT=AT Tl o X B
/[ <a~  \
/19 77~ \
B = S+ WaTg 0T S| L779N) - N\
T A10 5\
. A '\‘ ‘\‘ !'i ‘/'/)
C = Y&a Yoy shium=31 gl 11 N4
0 oo o \\\/{C
TR THIOT=AT Tehell ekl TaTd ShidTd "
a) 27 b) 23 c) 14 d) 12
In the adjoining figure A
/“i\/////\TB
A = servicing person / <& \
. // 1;'/;@ \\\ \\‘\
B = People travelling by bus ~L9 X 10\, N
N a2
— : ; 11 N\
C = People travelling by railway NG o
How many servicing person travel?
a) 27 b) 23 c) 14 d) 12
126. @Tetier Ts3Te T2 SRIAUIRY 1 A 3Tt HareT.
e, HIER, ATFhH
Which ven diagram will represent these words.
Vehicle, Motar, Bicycle
. N\
7 N\ AN
/o~ ~ VAN
e 0 )\ /77 N\
VNN ) 777 N\
) \.\ /,/ b) C) d) /,//.// \\\\_\
a) ~— i —

(e} a0 a o < (e (AW AN ‘7 < o
127. @refiet 994 SHlepd ™l SHIRRIAleT AIAHT STR FHiepcd el YU enl onRll (gl qIid Yl Aol sl

Find out the mirror image of the question figure from the answer figures.

PEEEIC ) L ‘ I AR AT B
659 |L|| QR0 | | Q3| | 659 | OGS
o : (1) (2) (3) )
a) 1 b) 2 c)3 d) 4
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128.

129.

130.

131.

132.

(2 (2 (2 [N aSd (2 < (AW aN
QA TR UTUTcie] Uicisiel SeUTRY e IR ST JATIeh! Harer.
Find out the water image of the question figure from the answer figures.

TIAATE IR AT
T (1 @ 3) (4)
a) 1 b) 2 c)3 d) 4

9T TShcll JuT SHRUITHTS! TR SATheiial 17 G farer.
Select the correct alternative to complete the question figure.

TyAATE Al FAABEHAT

%

(1) (2) 3) 4

a) 1 b) 2 ¢)3 d) 4
"R 8T Faired AR G Jehard 2013 e shivTedT SRS it hoard STet?
a) FEY 34T b) s Fhle ~ €) WLOA.R. @ d) SAd ARSI

To which scientist 'Bharat Ratna Award 2013' is declared?

a) Mother Teresa  b) Anil Kakodkar c¢) C.N.R. Rao d) Jayant Naralikar

TERTSII TR FeAT hivT 3T’
a) 31T JaR b) et T=oT c) g Heeor  d) T e
Who is the Chief Minister of Maharashtra?

a) Ajit Pawar b) Ashok Chavan c¢) Prutiviraj Chavan d) Gopinath Mundhe
o1e1or g FERT-2009 TAR HITET FANRIACT ATART Hihd o Hekira 918707 W30 &1
FTTehiT HoTHd &k 3TTe.

a) 5% 14 b) 63 14 ¢) 7% 14 d)07 14

According to right to education act 2009 which age group of children has achieved
the fundamental right of free and compulsory education?
a)Sto 14 b) 6 to 14 c)7to 14 d) 0to 14
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133, yRare ‘g’ At 3iawies WeeH Jehad il HaTer HTHeRed dT uredet 31 ?

a) ©g b) 6 c) ¥t d) 5713
Recently 'ISRO' has sent a satellite without manon ______ planet.
a) moon b) venus c) saturn d) mars
134. e AR HEA --nmmmmmmmmmmmoe T ARG HGAT SRR TR UG TehTaet.
a) T b) | AT C) et Tt d) dt.21. 3
In London Olympics Indian women boxer has achieved bronze medal?
a) Meri Come b) Saina Nehwal  c) Kavita Raut d) P.T. Usha

135, HERTE ST Ufeet TTeR FSoel TUH IOl [SToal STeaEet STt ?
a) AT b) TR ¢) e d) 3t
Which is the first literate district in Maharashtra state?
a) Raigad b) Ratnagiri c¢) Sindhudurga d) Thane

oo

136. HERTSE TSATT THUT fohelt o 3R’

How many districts are there in Maharashtra?

2) 34 b) 35 ¢) 36 d) 37

137.  RdT TS FEAT 0T HEA?
a) TOISt 3765l el b) UiAIeE Uit ©) WoTel qasil d) T fam
Who i1s the President of India?

a) APJ Abdul Kalam b) Pratibhatai Patil

c¢) Pranav Mukharji d) Manmohan Sing
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138.

139.

140.

141.

AT HERTE WA 1.9, .9, darad e, Iriard, HeRyTersh! 37 - WRIsT S

HigoTTdTal {ohall 2ok STRETUT 20T Ad.
a) 33% b) 50% c) 75% d) 3TReToT SvATd 3 e

How many percentage of reservation has been given to womens Z.P., Municipal
Council, Panchayat Samiti, Gram Panchayat, Municipal Corporation and local

governing bodies in Maharashtra?

a) 33% b) 50%

c) 75% d) No reservation is given
HBHTE STHIRTY --------------- RICIRE eI

a) BT b) ABe®H c) fie d) amer

Melghat sanctuary is famous for

a) Deer b) Maldhok c) Lion d) Tiger

AT HERTSE AT e f918707 Tt hior o7 ?
a) St BT @E - b) ToiR 581 ¢) TITe1 2 d) =d

Who is the Education Minister of Maharashtra?

a) Smt. Faujiya Khan b) Rajendra Darda
c) Rajesh Tope d) Vasant Purke

THETE ARA oo (oo SRR Jhades WEd HRATel USHRSR faeaqrae g

TS o R0 [ tioTerue qehee?
a) 9 TAhS b) FTT HHEA C) T Hiq d) 3T SHiaTe

Recently who has defeated India's Vishwanathan Anand in Chess competition and

become a world champion?

a) Boris Gulfand b) Karl Magnesan c¢) Magnas Karlsan d) Anatoli Corpav
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142.

143.

144.

145.

146.

147.

"3 IR AT YA TIRGehT WISl 3Te?
a) TR TRV b) e e ¢) gt T d) fertor S
Who is the author of the book 'l Dare'?

a) Meera Boravankar b) Saniya Mirza ¢) Saniya Mirza d) Kiran Bedi

'BAITE’ AT AT ST WTATeTIh! ShivTd!?

a) It b) s&ueA ¢) TR d) “rdres
Which of the following is the capital of 'Chattisgadh'?

a) Ranchi b) Dehradun c¢) Raipur d) Bhopal

(2} o o [a (2 [a
QTATCTIR! SHIOTCT TSaRTOT TRTERT AR = ST &fat?
a) TETTes5a] b) FahoarR c) TR d) qeTarg e

Which of the following is the source of the river Godavari?

a) Mahabaleshwar b) Trimbakeshwar c¢) Bhimashankar  d) Multai hills

(2} (2 [a
HERTSTE SURTSTE! WIeTeTush! ShioTet?

a) Alee b) ot c) qaE d) TR
Which of the following is sub capital of Maharashtra?

a) Nanded b) Pune c) Mumbai d) Nagpur

STATRITE TTEIhTaTE! HERTSTAI vl TR o TaT SHRET?
a) 3707 &SR b) Hie= arian C) SIS 3TTHS d) 75 3TefieTeRe

Who has set up a movement for the Janalokpal Bill in Maharashtra?

a) Anna Hajare b) Mohan Dhariya c¢) Baba Amte d) Narendra Dabholkar
TERTSE. TS YIS HIHAT 3 STV GeNeH Hees, B HXT WIeteTieh! ShioTedT IR 3Te?
a) qerg b) AR c) qut d) sfrmaTg

In which city Maharashtra State Bureau of Textbook Production and curriculum
research is situated?

a) Mumbai b) Nagpur c) Pune d) Aurangabad
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148.

149.

'SR 3T0] Ss1T ke’ TIATeTIeh! Shi0TeT TSToalT SHROT g6 37 ?
a) TS b) TR c) Tagg d) 3t
In which of the followign district is 'Jaitapur Power Plant' being built?

a) Raigad b) Ratnagiri ¢) Sindhudurg d) Thane

TERTSTCAT Toheit foh. 1. TATeaT HHRIRART AT 317

a) 700 fe. . b) 750 {4 c) 720 {54 d) 775 f.4.
Maharashtra has the costal area of length km.
a) 700 km b) 750 km c) 720 km d) 775 km

Space for rough work
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